Day 21 Homework Flexible Spending Plans, Part 2
Show work for each of the problems below.  Write a sentence with your answer and always include units.

The following information on income tax is from the IRS website:

Schedule Y-1 — Married Filing Jointly or Qualifying Widow(er)

	If taxable income is over--
	But not over--
	The tax is:

	$0
	$16,750
	10% of the amount over $0

	$16,750
	$68,000
	$1,675.00 plus 15% of the amount over 16,750

	$68,000
	$137,300
	$9,362.50 plus 25% of the amount over 68,000

	$137,300
	$209,250
	$26,687.50 plus 28% of the amount over 137,300

	$209,250
	$373,650
	$46,833.50 plus 33% of the amount over 209,250

	$373,650
	no limit
	$101,085.50 plus 35% of the amount over 373,650


Lisa and Jerry Black have the opportunity to set up a Flexible Spending Account (Flex Plan) through Lisa’s work.  Their joint income is $72,000 per year.  The Blacks’ predictable medical expenses for themselves and their two children are listed below.  
	Prescription:  $40/mo
	Yearly exams and labs:  $200

	Dental exams:  $240/yr
	Orthodontist:  $3200/yr


1. Calculate the Blacks’ taxes without putting any money into the Flex Plan.

2. Suppose the Blacks want to put enough money into their Flexible Spending Account to cover the expenses listed above.  What monthly deduction from Lisa’s paychecks should they request?

3. How much money would the Blacks save in taxes by setting up this account?

